[EIEER pat_syn:dinc st

beqin

for Lk =
beqin
accl{k, 7] :=
sum [0, 7] :=

end;

end;

end;

for 1 :=
beqin

beqin

beqin

for 1 :=

end;
sum[1, 0] :=
end;
for 7 :=
beqin
acclli+im-1}, 7]
sum[1, ] :=
end; K-I-
end;

end.

)

sum [0, 7] := 0;

accl[i+(m-1), 0]

for 7 := 1 to n-m do

4

0 to m-1 do

accl[k, j-1]+a[k,

sum[0, j]+accllk, J]:

= 1 to n-m do

= 0;

=0 to m-1 do
accl[i+(m-1), 0] :=

= accl[i+(m-1),

sum[1-1, O]+accl[i+im-1).

= 1 to n-m do

j+im-1)]-a[k, j-1];

O] +a[i+(m-13, 1];

0]-accl[i-1, 0];

accl[i+(m-1}), j-1]+a[1+im-1), Jj+im-1}]-a[z1+im-1), 7-1];
sum[1-1, j]+=accl[i+i{m-1), j]-accl[i-1., 7]:

[
program File Edi# View Tools Opfions Structure Text Transforms Help
1 : integer; A
beqin
beqin
beqin

sum[0, 0] := 0;
for k := 0 to n-1 do
beqin
accl[k, O] := 0;
for 1 := 0 to n-1 do
accl[k, 0] := accl[k., O]+afk, 1];
sum [0, 0] := sum[0, O0]+accl[k., 0O]:
end;
end;
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